

f n a p / m u o w R.

$$f'(a) = \lim_{x \rightarrow a} \frac{f(x) - f(a)}{x - a} \stackrel{\frac{0}{0}}{=} \lim_{x \rightarrow a} \frac{f'(x)}{1} = \lim_{x \rightarrow a} f'(x)$$

DLH

0/0
8/8
0 · ∞
∞ - ∞
1[∞]
∞⁰
0⁰

2 Gr. 2) (ii) $\lim_{x \rightarrow 0} (1+x)^{\frac{1}{x}} = \lim_{x \rightarrow 0} e^{\frac{1}{x} \cdot \ln(1+x)} = \lim_{u \rightarrow 1} e^u = e$

$$\lim_{x \rightarrow 0} \frac{\ln(1+x)}{x} \stackrel{\frac{0}{0}}{=} \lim_{x \rightarrow 0} \frac{\frac{1}{1+x} \cdot (1+x)}{1} = 1$$

DLH

| $\lim_{x \rightarrow 0} u = \frac{1}{x} \cdot \ln(1+x)$
 $\text{or } x \rightarrow 0 \Rightarrow u \rightarrow 1$

$a^x = e^{x \ln a}$

2 Gr. 5) $f(0) = f'(0) = 0, f''(0) = 1$

$$\lim_{x \rightarrow 0} \frac{e^{f(x)} - 1}{x^2} \stackrel{\frac{0}{0}}{=} \lim_{x \rightarrow 0} \frac{e^{f(x)} \cdot f'(x)}{2x} = \lim_{x \rightarrow 0} \frac{e^{f(x)}}{2} \cdot \lim_{x \rightarrow 0} \frac{f'(x)}{x} = \frac{1}{2} \cdot 1 = \frac{1}{2}$$

$$\lim_{x \rightarrow 0} \frac{f'(x)}{x} = \lim_{x \rightarrow 0} \frac{f'(x) - f'(0)}{x - 0} = f''(0) = 1$$

26.3) $f'(0) = 0$ in \mathbb{R} .

i) $f(0) = 1$

ii) f nst/mn \mathbb{R} .

$$f(x+y) = e^{2xy} \cdot f(x) \cdot f(y) \quad (1) \quad \forall x, y \in \mathbb{R}.$$

$x=y=0$: $f(0) = e^0 \cdot f^2(0) \Rightarrow f^2(0) = f(0)$ $\left\{ \begin{array}{l} f(0) = 0 \\ f(0) = 1 \end{array} \right.$

Av $f(0) = 0$

$x \quad y=0 \quad f(x) = e^0 \cdot f(x) \cdot f(0) = 0 \Rightarrow f(x) = 0 \quad \forall x \in \mathbb{R}, \quad \text{22000.}$

Av $f(0) = 1$. $f'(0) = 0 \Leftrightarrow \lim_{x \rightarrow 0} \frac{f(x) - 1}{x} = 0$. $\lim_{x \rightarrow 0} (f(x) - 1) = 0 \Rightarrow \lim_{x \rightarrow 0} f(x) = 1$

ii) f mn \mathbb{R} $x_0 \in \mathbb{R}$. $\lim_{h \rightarrow 0} \frac{f(x_0+h) - f(x_0)}{h} = \lim_{h \rightarrow 0} \frac{e^{2x_0 h} \cdot f(x_0) \cdot f(h) - f(x_0)}{h} =$

$$= f(x_0) \lim_{h \rightarrow 0} \frac{e^{2x_0 h} \cdot f(h) - 1}{h} = f(x_0) \lim_{h \rightarrow 0} \left[\underbrace{\frac{e^{2x_0 h} \cdot f(h) - e^{2x_0 h}}{h}}_{A(h)} + \underbrace{\frac{e^{2x_0 h} - 1}{h}}_{B(h)} \right] = f(x_0) \left[0 + 2x_0 \right]$$

$\lim_{h \rightarrow 0} A(h) = \lim_{h \rightarrow 0} \left[e^{2x_0 h} \frac{f(h) - 1}{h} \right] = e^0 \cdot f'(0) = 0$. $\lim_{h \rightarrow 0} B(h) \stackrel{DLH}{=} \lim_{h \rightarrow 0} \frac{e^{2x_0 h} - 1}{1} = 2x_0$

$$\text{iii) Anö (ii) } \Rightarrow f'(x) = 2x \cdot f(x) \Leftrightarrow f'(x) - 2x \cdot f(x) = 0 \rightarrow$$

$$f'(x) + (-x^2)' \cdot f(x) = 0 \Rightarrow f'(x) \cdot e^{-x^2} + e^{-x^2} \cdot (-x^2)' \cdot f(x) = 0 \Leftrightarrow$$

$$\left(f(x) \cdot e^{-x^2} \right)' = 0 \dots$$